Bid Evaluation Report

1. Name of Procuring Agence	ey: H.E.J. RESEARCH INSTITUTION University of Karachi, Karachi	UTE OF CHEMISTRY, I.C.C.B.S,
2. Tandar Bafaranaa Na.		
2. Tender Reference No:	ICCBS-HEJ/ILTP-SAC/PRF 15	32-051217
3. Tender Description/Nar	me of work/item: Purchase of Air	Conditioners
4. Method of Procurement	: Single Stage one envelop proc	edure
	RA S.No. 34871 Dated: 19-10-17 Media (SPPRA ID No. & News	Jang , Dawn, Kawish 16-10-17 papers names with dates)
6. Total Bid documents So	old; Six	
7. Total Bids Received: S	ix	
8. Technical Bid Opening	date: (if applicable)	(Provide details in separate form)
9. No. of Bid technically of	qualified (if applicable):	
10. Bid(s) Rejected: On	ne	
11. Financial Bid Opening	g date: 31-10-17	
PURCHASE COMMITT	EE ICCBS, INSTITUTE.	
	Jul	
PRØF. DR. M. SHAIQ ALI Professor Convener (ICCBS)	PROF. DR. FARZANA SHAHEEN Professor Member (ICCBS)	MR. SYED JEHANZEB Manager Finance Member (IBA)
	\(\frac{1}{2}\)	
DR. HAFIZ UR REHMAN Associate Professor	MR. SYED MUHAMMAD WAJEEI Manager IT	1 ZAIDI

12. A. Bid Evaluation Report:

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Reasons for acceptance/ rejection	Remarks	
0	1	2	2 3		6	
1.	M/s. Amisco	Rs. 3239700.00 1^{st} Lowest qual		Selected on the basis of technical qualification and lowest cost	Accepted	
2.	M/s. Vorson Rs. 3293490.18			Technical qualified but higher cost		
3.	3. M/s. Trade Linkers Rs. 3472800.00			Technical qualified but higher cost		
4.	4. M/s. Al-Madina Rs. 3690800.00			Technical qualified but higher cost		
5.	M/s Prime			Technical qualified but higher cost		

PURCHASE COMMITTEE ICCBS, INSTITUTE.

PROF. DR. M. SHAIQ ALI

Professor Convener (ICCBS) PROF. DR. FARZANA SHAHEEN

Professor Member (ICCBS)

MR/SYED JEHANZEB

Mahager Finance Member (IBA)

DR. HAFIZ UR REHMAN Associate Professor Member (ICCBS)

MR. SYED MUHAMMAD WAJEEH ZAIDI

Manager IT Member (IBA)

H.E.J RESEARCH INSTITUTE OF CHEMISRTY INTERNATIONAL CENTER FOR CHEMICAL AND BIOLOGICAL SCIENCES UNIVERSITY OF KARACHI

Comparative Statement (1) For End User

Tender No. ICCBS/HEJ/ILTP-SAC/PRF 15327-311017. (Opend on 31/10/2017)

For Purchase of Air Conditioner (Simple) (Ms. Sadia / Mr. Imran)

s. No.	Items	Company name	Make & Country of origin	Model No. / CAT No.	Qty	Unit Price in PKR	Total Price in PKR
		Amisco	Orient, China	Gama-12 (1 Ton)	36	PKR 41,400.00	PKR 1,490,400.00
		Prime Associate	Daikin - FT15	1 Ton	36	PKR 82,135.00	PKR 2,956,860.00
1	Air Conditioner (1 Ton)	Trade Linkers	Dawlance	DAC-HZONE-15 (1 Ton)	36	PKR 37,575.00	PKR 1,352,700.00
	**************************************	Al-Madina Enterprises	Daicol, Kenwood	1 Ton	36	PKR 47,100.00	PKR 1,695,600.00
		Vorson	Tel, China	12-Gama (1Ton)	36	PKR 40,521.78	PKR 1,458,784.08
		Amisco	Orient, China	Gama-18 (1.5 Ton)	13	PKR 51,500.00	PKR 669,500.00
		Prime Associate	Daikin - FT20	1.5 Ton	13	PKR 107,425.00	PKR 1,396,525.00
2	Air Conditioner (1.5 Ton)	Trade Linkers	Dawlance	Inspire + Inverter 30 (1.5 Ton)	13	PKR 64,200.00	PKR 834,600.00
		Al-Madina Enterprises	Daicol, Kenwood	1.5 Ton	13	PKR 62,900.00	PKR 817,700.00
		Vorson	Tcl, China	18-Gama (1.5Ton)	13	PKR 53,414.01	PKR 694,382.10
						T	
		Amisco	Orient, China	OS-24 (2 Ton)	15	PKR 69,000.00	PKR 1,035,000.00
	Prime Associate		Daikin - FT25	2 Ton	15	PKR 126,000.00	PKR 1,890,000.00
3	Air Conditioner (2 Ton)	Trade Linkers	Dawlance	Inverter 45 TS	15	PKR 83,160.00	PKR 1,247,400.00
		Al-Madina Enterprises	Daicol	2 Ton	15	PKR 78,500.00	PKR 1,177,500.00
		Vorson	Tel, China	24-Gama (2 Ton)	15	PKR 73,674.90	PKR 1,105,124.00
		Amisco	(4.0.000)	(11111111	Per RFT	PKR 702.00	
	Conner	Prime Associate		PVC	Per RFT	PKR 550.00	
4	Copper Piping, Dura Duct & Drain	Trade Linkers		344,444,440)	Per RFT	PKR 550.00	
	Pipe	Al-Madina Enterprises					
		Vorson			Per RFT	PKR 347.00	

H.E.J RESEARCH INSTITUTE OF CHEMISRTY INTERNATIONAL CENTER FOR CHEMICAL AND BIOLOGICAL SCIENCES UNIVERSITY OF KARACHI

Comparative Statement (1) For End User

Tender No. ICCBS/HEJ/ILTP-SAC/PRF 15327-311017. (Opend on 31/10/2017)

For Purchase of Air Conditioner (Simple) (Ms. Sadia / Mr. Imran)

S. NO.	Items	Company name	Make & Country of origin	Model No. / CAT No.	Qty	Unit Price in PKR	Total Price in PKR
	5 Control Wiring	Amisco			Per RFT	PKR 58.50	
		Prime Associate				Included in Items N	lo: 04
5		Trade Linkers				Included in Items N	lo: 04
		Al-Madina Enterprises				XXX.44X.0440	
		Vorson	********		Per RFT	PKR 36.00	
		Amisco	Local		36	PKR 700.00	PKR 25,200.00
		Prime Associate	inness.com		36	PKR 550.00	PKR 19,800.00
6	Iron Frame for outer Unit 1 Ton	Trade Linkers	********		36	PKR 550.00	PKR 19,800.00
	1100	Al-Madina Enterprises			ana mana	90004040040	
		Vorson		navenn	36	PKR 550.00	PKR 19,800.00
		Amisco	Local		13	PKR 700.00	PKR 9,100.00
		Prime Associate	*******	000000000	13	PKR 600.00	PKR 7,800.00
7	Iron Frame for outer Unit 1.5 Ton	Trade Linkers			13	PKR 600.00	PKR 7,800.00
		Al-Madina Enterprises	anemane.		******	*******	
		Vorson			13	PKR 550.00	PKR 7,150.00
		Amisco	Local		15	PKR 700.00	PKR 10,500.00
		Prime Associate			15	PKR 700.00	PKR 10,500.00
8	Iron Frame for outer Unit 2 Ton	Trade Linkers			15	PKR 700.00	PKR 10,500.00
	_ 100	Al-Madina Enterprises				244244	
		Vorson			15	PKR 550.00	PKR 8,250.00

H.E.J RESEARCH INSTITUTE OF CHEMISRTY INTERNATIONAL CENTER FOR CHEMICAL AND BIOLOGICAL SCIENCES UNIVERSITY OF KARACHI

Comparative Statement (1) For End User

Tender No. ICCBS/HEJ/ILTP-SAC/PRF 15327-311017. (Opend on 31/10/2017)

For Purchase of Air Conditioner (Simple) (Ms. Sadia / Mr. Imran)

S. NO.	Items	Company name	Make & Country of origin	Model No. / CAT No.	Qty	Unit Price in PKR	Total Price in PKR
	Installation	Prime Associate					PKR 2,200.00
9	Charges	Trade Linkers					PKR 2,200.00

The total _05_ no. of Commercial/Technical bid(s) was/were submitted.

Amisco	PKR 3,239,700.00
Prime Associate	PKR 6,281,485.00
Trade Linkers	PKR 3,472,800.00
Al-Madina Enterprises	PKR 3,690,800.00
Vorson	PKR 3,293,490.18

PROF.DR.M.SHAIQ ALI

Professor Conveer (ICCBS) PROF. DR. FARZANA SHAHEEN

Professor Member (ICCBS) MR. SYED JEHANZEB

Manager Finance Member (IBA)

DR. HAFIZ UR REHMAN Associate Professor

Associate Profess Member (ICCBS) MR. S.M.WAJEEH ZAIDI

Manager IT Member (IBA)

MINUTES OF TECHNICAL COMMITTEE OF TENDER NO: ICCBS/HEJ/ILTP-SAC/PRF-15327-311017 FOR PURCHASE OF AIR-CONDITIONERS

Technical committee meeting for Tender No:- ICCBS/HEJ/ILTP-SAC/PRF-15327-311017, was held on 8th December, 2017 for reviewing of the bids received against the tender for Air-Conditioning works for Industrial Linkage Technology Park and Technology Incubator-Incubatee building. Following recommendations were made:

Four bids were received. After reviewing of bids, it has been observed that M/s Amisco is the lowest evaluated bidder and it has fulfilled all of the codal requirements. Thus, the Committee has recommended that the tender may be awarded to M/s Amisco being the lowest evaluated bidder amounting to Rs. 3,239,700.00

On the Recommendation of Technical Committee

PURCHASE COMMITTEE ICCBS, INSTITUTE.

PROF. DR. M. SHAIQ ALI

Professor Convener (ICCBS) PROF. DR. FARZANA SHAHEEN

Professor Member (ICCBS) MR. SYED JEHANZEB

Manager Finance Member (IBA)

DR. HAFIZ UR WEHMAN

Associate Professor Member (ICCBS) MR. SYED MUHAMMAD WAJEEH ZAIDI

Manager IT Member (IBA)

INTERNATIONA CENTER FOR CHEMICAL AND MOLOGICAL SCIENCES UNIVERSITY OF KARACH KARACHI-75270

OPENING OF THE TENDER / RE-TENDER NOTICE NO. ICCBS/HEJ/ILTP/SAC/PRF 15327-311017.

AT

03:00 P.M. ON

31.10.2017

IN PRESENCE OF THE BIDDERS AND THE CHAIRMAN PURCHASE COMMITTEE.

Estimated Cost (PKR): Above 1.0 Million

S. No.	Name of Company (M/s.)	Bid Amount	Earnest Money	Comparison with Estimated Cost	Remarks	Sign of Bidders
1.	PLIME ASSOCIATE					
2.	TRADE LINKERS					
3.	AMISCO					Jum.
4.	AC-MAIDINA.					<u>y</u>
5.	POTAL NETWORK SOLUTIONS	6,4,488,960/-	ls4500/-		REJECTED DUE TO LOW EARNEST MONEY	1/2

PROF. DR. M. SHAIQ ALI

DR. FARZANA SHAHEEN

DR/HAFIZUR REHMAN

Convenor / Professor (ICCBS)

Member / Associate Professor (ICCBS)

Member / Associate Professor (ICCBS)

SYED JEHANZEB Manger (Finance, IBA)

S.M. WAJEEH ZAIDI

Manager IT, (IBA)

INTERNATIONAL CENTER FOR CHEMICAL AND MOLOGICAL SCIENCES UNIVERSITY OF KARACHI KARACHI-75270

OPENING OF THE TENDER / RE-TENDER NOTICE NO. ICCBS/HEJ/ILTP/SAC/PRF 15327-311017.

AT

03:00 P.M. ON

31.10.2017

IN PRESENCE OF THE BIDDERS AND THE CHAIRMAN PURCHASE COMMITTEE.

Estimated Cost (PKR): Above 1.0 Million

S. No.	Name of Company (M/s.)	Bid Amount	Earnest Money	Comparison with Estimated Cost	Remarks	Sign of Bidders
6.	VORSON (Put.) Ltd.	•		*		Haw?
7.	Fotal Netwon Solution					- Jus
8.				*		
9.						
10.						

PROF. DR. M. SHAIQ ALI

Convenor / Professor (ICCBS)

DR. FARZANA SHAHEEN

Member / Associate Professor (ICCBS)

DR. HAFIZUR REHMAN

Member / Associate Professor (ICCBS)

SYED JEHANZEB

Manger (Finance, IBA)

S. M. WAJEEH ZAIDI

Manager IT, (IBA)

INTERNATIONAL CENTER FOR CHEMICAL AND POLOGICAL SCIENCES UNIVERSITY OF KARACHI-75270

Tender Opening Minutes

Tender / Retender Notice No. ICCBS	HEJ/ILTP/SAC/PRF 15327-311017.	was opened on
at 03:00 P.M. Total	Nos. of bid(s) was/were submitted out of wh	nich bid(s) was/were accepted
and bid(s) was/we	ere rejected on Commercial Ground.	
	5-	
PROF. DR. M. SHAIQ ALI	DR. FARZANA SHAHEEN	DR. HAFIZ UR REHMAN
Convenor / Professor (ICCBS)	Member / Associate Professor (ICCBS)	Member / Associate Professor (ICCBS)
	JEHANZEB Finance, IBA)	M. WAJEEH ZAIDI Manager IT, (IBA)

BIDDER'S QUALIFICATION REPORT



ICCBS/HEJ/ILTP/SAC/PRF 15327-311017.

S. No.	Bidder Name	Complete Company Profile	Relevant Experience (At least Six Months)	Turn over (Rs. 100,000.00 at least last three years)	Valid registration with Tax Authorities
1.	AMISCO	4.49	7~	Tes	yes
2.	PRIME ASSOCIATE	7-47	74	7-47	741
3.	TRADE CINKERS	70	70	zes -	70
4.	PLADE CINKERS AL-MADINA ENTERPORE	y y so	74	Tes	7-95
5.	VORSON	'yes	7-10	70	741
6.					
7.					
8.		/-	/ .		

PROF. DR. M. SHAIQ ALI

Convenor / Professor (ICCBS)

DR. FARZÁNA SHAHEEN

Member / Associate Professor (ICCBS)

DR. HAFIZ UR REHMAN

Member / Associate Professor (ICCBS)

SYED JEHANZEB

Manger (Finance, IBA)

S. M. WAJEEH ZAIDI

Manager IT, (IBA)